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c. What are

3

4

5

6 e. What is

With a suitable UML r:otations, explain constraittts on objects,

(08 Marks)
(04 NIarl<s)

OR
N4ention tite stages involvecl in clomain clnss model. Explain any

resocct to Automatic Teller Machine (ATM) case study. (081\{arks)

explain the stages involved in constntcting a domain state model with thc
i\\'o staulcs m

b. llentiorr iincl

cranrplc of ATM case stucly.

c. -h,rpluin der,ising a svsteln conoept and e laborating a systerll coite:el;t

I o1'2

USN

Fifth Semester B,E. Degree
Object Oriented

Time:3 hrs.

It{ote: Answer any FIVE full questtonsr'

2lcD5l

.
Examination, D ec.2023 I J an.2021
Modelling and Design ,'

Mztx. Marks: 100

clroostng ONE full questiort Ji"om euch module.

(08 Marks)
(08 Marks)
(04l\{arks)

OR
With a suitable notations and examples, explain system sequence diaglan-rs. Also ntcrttiort

ihc advantages using system seqllence diagram. (08 Marks)

Vlcntion the importance o1'using state chart cliagram. With an examplc of printcr, explain

statc chart tliagram. (06 \larl<s)

lVlcutic.n iincl explain thc rules ltlr clcvelopitrg statc chat'|. (06 hlarl<s)



the look up itern

Write a c

21CD51

(04 NIarks)
use casc

(08 Marks)
diagran-r for look

(08 Marks)

7 ;t. Mcntion thc inrportancc tl1'Lrse casc iz

b. Explain designing the first cut sequence

and mention its guide lines.
c. Desc,ribe the syrnbols of c

up itcm availabihties.

OR
8 a. E,xplain thc fbllowing terms

i) Design class notation
ii) FLrnclarncntal desigi

b. lrxplain hou. to upcl

c. L.isl ancl crplain. tire

notatrons

class diagrarr.
lities o1'r,icrv la

(06 Marks)
(06 Marhs)

s. clonrain laver classc:; and datayer classe

9

2 of}

OR
10 a. Explain how to use the design pattem. (071\{arks)

b. Cive the consequences of prototype design pattern. (05 Marks)
c. What are structural pattern? Give the applicability, structlrre and participanls invoivcd in

proxy de sigu pattem. (08 Marks)
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c. Briefly

3

4

5

6

7 a. Write a program for c
b. Briefly explain about

d"..-sn*

I ,a,"1'

*,r|$illll:'-

Module-4
control using leaky bucket algorithm.

service primitives.

pnvate ."(p (04 Marks)

(10 Marks)
(10 Marks)

OR
8 a. With a neat labelled diagram, explain TCP segment structure. (10 Nlarks)

b. Explain TCP connection management with TCP connection management FSM diagrarn.

., $q$'il"S

,.:**sN$Ntr,

I of2

(10 Marks)

USN

Fifth Semester

Time:3 hrs.

Note: Answer any FIVE full questions, choosing ONE futt question from eaclt moclale.

llodule- I

a. Define Computer Networks. Explain local area nefwork in dctail with a neat diagram.

b. Explain MAN with a neat labelled diagram. 
(06 Marks)
(06 N{arks)

c. List and explain design issues for layer. (08 Nlarks)

1

)



9
Module-S

Explain client/server and P-P architecture with aa.

b. Explain use and server interaction with a neat

Explain persistant and non persistant
Write notes on:

diagram.

21CSs2

(10 Marks)
(10 Marks)

(10 Marks)

(10 Marks)

10 a.

b.
(i)
(ii )
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I a. Define DBMS. Explain all
database.

b

2a.

b.

3a. four relational
b. Expiain all the steps of

suitable example.
c. Discuss the DIVISION

A:

operations that

database

of relational

Br

transaction
suitable example.

E-R to

by DBMS on a

(05 N{arks)

(10 Marks)
(05 Mark$

(04 Marks)
(10 Marks)
(06 Marks)

(06 Marks)
schema with a

(06 Marks)
the followin CIbFind the

.Br
f-

W-;-
i"

{kw
.,!,,;i.o!:trr

+ 83:

PNO
P1

Pz

P+

s*il*fll"no"5ff#"*

-d ..,

J -srsi 
.p

A/ffi-i)

Reserves (sid,
Write a
i) Find the
ii) Find the

queries for the following
sailors who have reserved boat#103

of sailors who have reserved a red boat.
of sailors who have ressrved a red or green boat.

of sailors who have reserved all boats.
I ofZ

(08 Marks)

(06 Marks)
algebra. Demonstrate the advantage of

(06 Marks)

2 iii)

a.

b.

nfiL{nes

iii) Find the names

iv) Find the hames

SNO DNO

" PrsSr

Sr 'P2
Sr '4t |rtiririiiiiP3

Sr
'",,,' 

Pq

,*.Sz 
"

Pr

Pzsi
.S: Pz

PzSq

Sa P+

PNO
Pz

P+

(08 Marks)

.

join operation.

ofa
o1n

c. Considering the
Sailors (grd, sname,
Boats (bid, bname,



5a.

c

6a.

b.

condition.
"The salary of an Employee

department that the employee
c. Referring to the below

Work

8 a. Explain the
b. What is of

F.D's are tor
FDr : 9B,
FDz: {A + B,

c' Write an algorithm to

9

sign guidelines of a database. (06 N{arks)

sets of functional dependencies? Check whether the following sets of
not.

B-->C,AB-+D)
B-+C,A-+C,A-+D)
find the closure of functional

Module-5

dependency'F'.

the manager of the
(05 Marks)

es for the following:

(08 Marks)
(06 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

(10 Marks)
(10 Marks)

7

a. Explain the desirable properties of a transaction.
b. Explain with a neat diagram, the state transition diagram of a transaction.
c. Explain two phase locking mechanism rvith suitable example.

Discuss on the
Explain Binary

a.

b.

OR
database inconsistency problem.
locks and shared locks with algorithms

r*2ofT>v*

Fname Lname Minit Bdate erSsn Dno

Dname start date

Pname er Plocation Dnum

HRS

Bdate

10

b, Demonstrate the following constraints in SQL with

21CSs3

(05 Marks)

v) Check. (10 Marks)
(05 Marks)

ofa example.
(05 Marks)

Asserlion for the

i) For each

department and
the loyees in thethe

salary.

li! .::il:i::r
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21CS54

(04 Marks)
(06 Marks)

Fifth Semester B.E. Degree Examination, Dec.2023lJan.2024
Artificial lntelligence and Machine Learning

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE fttll questions, choosing ONE full question from eaclt rnoclule.

I a. Identify the Turing test approa.nT#ff*e a satisfactory operational clefinitron of
lntelligence. (04 N{arks)

b. Make use of the state space of the vacuum world and define the components to solve this
problem. (06 Marks;

c. Illustrate the properties and the algorithm for Breadth-first search technique. (10 Marks)

OR
2 a. Explain the concepts of thinking rationaliy and acting rationally. (04 Marks)

b. Explain the tree search and graph search algorithrns. (06 N{arks)

c. Explain problem solving agents alongwith the algorithm and illustrate thc incremental
fomulation of 8-Queens probiern. (10 N{arks)

3 a. Identify the differences supervised and
Module-2 *,lo-'M*

irdfubrvised
b.
c. to the best path

A

to Fig.Q3(c)1.
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VlcrT,

li{.{d
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4a.

5a.

b.

c. Apply the heuristic
from the given initial

s
$1.."**+tl- y

thm on the

lritiil Statr

(06 Marks)

problem to reach the goal state

(08 Marks)

shown table below. Apply Find-S

Fig

to

b. Explain why
learning

;l.i ,.-.,,'

'ii\,fu{#ser'tftu
}|

c

(08 Marks)

based called and compare instance based
(06 Marks)
(06 Marks)

based
of Regre with

OR
student trainin of 8 data instances in the below table.

ofa sify tlre test instance (6.1 , 40, 5) to check
pass or fail in thpt using KNN approach (K: 3)

6 a

(12 N{arks)
space and the candidate elimination algorithm explaining the algorithm

2 0f 3 
(08 Marks)

6

",s

b Explain version
steps.

: .,1rss

't {2 3 2 13

4 4 s le6
7 5 7a sl

,; S.No. CGPA Assessment Project Submitted Result
1 9.2 8 Pass
2 80 7 Pass
3 ri$::5, 81 8 Pass
1+ i1g1,,,,,.,,S' 45 5 Fail
5 6.5 50 4 Fail

.16 8.2 72 7 Pass
"r" ,7,

I 5.8 38 5 Fail
8 8.9 9l 9 Pass

5(a )

$o\s $0

Sirls i5 t5 :s
ss {U I00

ri*f I($ Yt*)9 1s'trit!i, ifxrtl|gni iCurxi .i.'tr
yr$1" ICtwtr lCuof ;n$ Ist Yri Yei ,,,19

l,itt i,,i'Iti lr$t NuNo lc*a icooa

Shxv No* )r,r lC*,1 lcod



Module-4
7 a. Explain the advantages and disadvantages of deci

b. Explain validating and pruning of decision
c. Explain Bayes optimal classifier and solve

21CS54

a patient is

(06 Marks)
(06 Marks)

sed as COVID
below

(08 Marks)

ID3 algorithm. (06 Marks)
(MAP) Hypothesis (huap) and Maximurn

(06 NIarks)
explain the popular variants of Bayesian

(08 Marks)

Marks)
Marks)
Marks)

Marks)
-means
6) and

(12 Marks)

"*{$
':l::,,.r i

positive or COVID negative using the ta

OR
8 a. Explain the proc construct a decision

b. Explain Bayes Maximum A Po
Likelihood othesis (hy1)

c. Illustrate of Naive Bayes
c

9a.
b

10 a.

b.

"t
'Sur

..11$11 =

.L: .. .Jl'

;! ri r 
rri

; l i:ia:

{iir,,

***r<*

$ ..,,:::::,.: '::i:' I

i:'

W

P(h/r) P(COVID positivef P(COVID negptifa/h1)
0.3 *.liqg \ffi{ ,i"{-*
0.1 s'u[' ir;] 1 , 1 

*'[i"';'

4.2
,,xr,i.0

0.1 I
I 0

Ob-jects X-coordinate Y-coordinate
IS ,:i!"2 4
1

ol*4it"t"':' 6
$1

6,' 8
l$1.::. 4 10 4

5r, t2 4

3 of3

trees.
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b. What ethical
determining in Engineering

3 a. How distinguish new and existing knowledge during a literature

should be taken into account when
(10 N{arks)

(10 Marks)

tent. From the initial idea to the grant of
(10 Marks)

b.

4a.

b.

5a.

b Discus history of property in India.

OR
ofobtainingapaa. '.Explain the

the patent.
n1y used terms in the

in thiS domain.

.,,,:,:::

that hn,ofiginal

process of copyright

6 process

b. What are

effective

7 a. Explain the criteria

b. Explain the
holders?

field of patenting and how do they contribute to
(10 Marks)

Module-4
work must meet to quality for copyright protu-ction.

(10 Nlarks)

registration? What are the benefits for the copy right
(10 Marks)

.Wty-J

I of2

USN 21RMIs6

I q*iq*'
Fifth S emester B.E. Degree Exa minat&ii,b bc.2023 I J an.202 4

Research Methodology & lntell..ecf,ral Property Rights
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(10 Marks)
,gorizing different types

(10 Marks)

9 a. Explain the process of Industrial (10 Marks)
b. Explain the famous case law between Inc Vs Samsung s Co. related with

Industrial Design rights d$,

8 a. Explain the process of Trademark
b. Explain the classification system

of marks.

M

OR
10 a. Which specific acts, laws govern geo

examples of well known indications
b. How would you

in India?
overall ecosystem

Eleotronic

ns in India?

(10 Marks)

Give some
(10 Marks)in India.

of geographical indications
(10 Marks)

***>l*
l' ,,,:,:::,,,

i r{lr" il

1,.!,",,,1rx"1"

il.*lS\,

"'i+r

4 -_.,,r

'$fi,,, -

i:,,+r:rr lil{ ".''. J
"'s-' 2 of2

crr;i:l.i*;iw
i,i:r+

s:.it iitilii
'{*$!

e

,:::i:: "ji,{
,*, 

-"rfu -

,,ii r

d al'\ i
\ r:.iii

1ff i'
ffi. r::
i'q$u"

dtun*. 'lP
t["' "ti.

?lfu'{
,** 't1,rr'l$"

fl\.."qfu, "r'
'rl]ll[a" T

$e

-:tE

,s"

$s

J1,



USN

ztcrv57

makes the answer invalid.

on the OMR sheets are strictly

T

4. Darkening for

5.D

1 GIS uses the information m'ifuhich of the fo
a) Non-Spatial Informa
b) Spatial lnformation

the same question

using whiteners

,$r
{tt#u,: Iiir1

sf'

." 
t"Td*'

ji F%r s'

-" - 
".S'

prohi

' . *'uq

a:&r
7

3

b) Environmental
c) Environmental
d) Environmental

,f "mI '"iP' Y

* -,.---^ 
"

14000
llution

and Impact
Impact
Impact

b)

:',,-, .

''r",, b) Risk management
d) None of these

in ISO
c) BIS

)

4

5 high population density
c) usA

d) BCCr

d) Western Europe
Which of the following is having
a) India b) China

6 Environment tion is targeted to
a) General
b) Pro groups
c) Technical
d) An of the

,.#[,,

Paper Version : D

ientists

Ver-D-1of4

Fifth Semester B.E./B.Tech. Degree
Environmen

Dec.2023lJan. 2024

iMax. Marks: 50

1.

2.

3.

es

circle

a)



ZICIY57
7 Discharge of municipal waste cause

8

9

a) Depletion of dissolved oxygen
b) Destroy aquatic life
c) [rnpair biological activity
d)All of thc above

_ is are referred to a Earlh's lungs
a) Forests b) Carbon cycle c) Water sources

Solid waste is best managed through
a) lncineration b) Open dumping c) Sanitary landfill

d) Miner

attributed to
b) c) Air po

mg

d) None of these

,,, 

tt t,,,,,,,,,,,,

unQ;ppinnost
tlr.:,,

10 Love canal tragedy is
a) Soil pollution

11 Disaster management

2A

2t

a) 12

llutioa,.*g
\ ,-i

i

hours

) Spanish d) English

and Handling) Rules 1998, waste should

b) 48 hours c) 72 hours d) 96 hours
Ver-D *2of 4

l:ill:::

a) Mitigation

t4

15

16

l2 What is the health eflects of fluoride in drinking waster
a) Arthritis b) Diarrhea c) Anemia d) All of these

13 What is the permissible range of pH for drinking water as per Indian standards
a)6-9 b)6-8.s c)6.5-8.5 d)65-7.s

d) All of these

d) Recharge

d) or
17 'l'he primary cause of acid rain around the world is

a) CFC b) SO2 c) CO

18 Bhopal Gas I'ragedy caused due
a) MethyllSO Cyanate (MIC)
c) Mustered gas

19 Deforestation can
a) Increase the rainlall
b) lncrease soil f.ertility
c) lntroduce silt in the river
d) None ofthe above

to leakage of
b) Sulphur dioxide
d) Methane

,:,
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1\

24

25

22 Pyrolysis is an _ process

27

28

29
1

d) Kaiga

d) Fog

d) None of these

Earth's surface

) 19 to 48km d) 190 to 480km

research and development in renewable energy
biogas and solar power

,.'.,
,r$1.?;stro

30

31

32

35

a

1

sources such
a)

b)

v for
power

Famous
c) Ministry of new and Renewable energy
d) Health and Family welfare

The OTEC is an energy technology that converts
a) Energy in large fidei of oceurio g.n.rate electricity
b) Energy in ocean waves to generate electricity
c) Energy in ocean due to thermal gradient to generate electricity
d) Energy in the last moving ocean currents to generate electricrty

Ver-D -3 of 4

c) Both a and b d) Neither a and b

c) Corrosive d) Odorous

d) Particulate matter

c) Aprrl}2"d d) Jantiary 26'1'

b) Jacob Von Verkul
d) Ernst Haeckel

26

a) Carbon dioxide b) Oxygen c)Nitrogen

Urbanization is
a) Local environmental issue

b) Nation environmental issue

c) Both a and b
d) Not at all an issue

Earth day is held every year on :

a) June 5th b) November 23'd

The term hotspot was introduced by *
a) Norman Myere
c) A.G. Transley

flow is always
a) Always
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36 In a Lake, phl.toplankton grow in abundance in

37

38

39

40

41

42

43

44

45 What % ol its
a) 23%

,::'l

geographical' ,,, b)
..,,i1.,11.

be under ftrest cover
% d) 33%

in the year
d) r991

area ofa
43%

19

urC ) 13

46 Hazardous Weste Management
a) 1988

47 Which of these
a) Cadmium

48 Remote sensinp
ffi;;.db;;?

b)

is the case o$e-waste?

b) Sound waves
d) Wind waves

satellite from the earth is about
c) 36,000km d) 44,000km

b) Global warming
d) Ozone layer depletion

c) Lead d) All of these

of the properties of _emitted, reflected or

enacted in India
c) 1990

make use

objects
Lil-1x,ftq

'i ,*"
,:E$il

49
a) 26,000km

50 Montreal protocol is
a) Food security
c) Sustainable development

00Okm

d<***d<

]iu$ilt{itr'

to the

Ver-D *4of 4

a) Red b) Black

water
d) 1.5mg/L

"..-*:.

%
c) Blue

laboratory culture-waste

.O White

a) Arsenic

a) Electric waves
c) Illectromagnetic waves

released from batteries is

b) Cobalt c) Barium

at the levelBiodivcrsity is a measure of variation
a) Genetic b) Species

World [:nvironment Day is celebrated
a) 5'r'May b) 5th June

c) Ecosystem

c) 18th June

d) Cadmium

d) All of these

on
d) 16th August

b) To check pollution
d) None of these


